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POLITICAL SCIENCE
PAPER - II

A-llas Qs
qy:-II

Note :This paper contains ONE HUNDRED (100) multiple-choice/asgertion/

reasoning questions/matching questions. Each question carries TWO (2)

marks. Attempt All the questions.

A4 ;2w Al (100) sglselly wsll, Wi 2 Assi ol qanl i 9,

UM Wil o @vdl 8. Udls s & () @ B,

Of whom of the following is Karl
Popper a critic and Ronald B.
Levinson a supporter of ?

(A) Plato
(B) Aristotle
{(C) Niccolo Machiavelli

(D) Thomas Hobbes

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Select
the correct answer from the codes
given below :

Assertion (A) : '

Great political theories originated,

as Sabine put it, in the interstices

of political and social crises.

Reason (R) :

There is no disinterested political

theory.

Codes : _

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B} Both {(A) and (R) are true but
(R) is not the correct
explanation of (A) -

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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3. Who among the following are

" participants in Plato’s Republic ?
@) Polemarchus

() Protagoras

| (¢) Adeimantus

(d) Glaueon

. Select the correct answer from the

codes given below :

(A) (a) only |

~ (B) (@), ®) and @) only

(©) (@), ®) and (¢} only

(D) (a), (c) and (d) only

Who. among the following is
assoeiated with logical positivism ?
(A) Ludwig Wittgenstein

(3) David Hume

(C) Emile .Durkheim

(D) Auguste Comte
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5.

Consider the following statements :

(@) Niceolo Machiavelli permitted

the prince to act in violation of
moral principles in the interest
of the state.

(b) Niccolo Machiavelli proposed

two different standards of
morality — one for the ruler

and the other for the citi@ns. .

{¢) Niccolo Machiavelli did not
advocate the separation of
politics and morality.

(d) Niccolo Machiavelli suggests
that the prince should appear
to be the embodiment of
qualities which are held in
esteem.

~ Of the above statements :

(A) (a), (b) and (c) are correct
(B) (a), (b) and (d) are correct
(C) (a) and (b) are correct

(D) All are correct

. Who wrote A Letter Concerning

Toleration ? |

(A) Thomas Hobbes
(B) Robert Filmer
(C) Immanuel Kant
(D) John Locke

Pol. SCi.-_-H

5.

1A-u Q- QA R :

@ [Msidi Aswddlal o4
Al Rdui Adls Rigidieg
Gedan 530 wat 51 sl e92
a0t |

®) [Fsidl AR ARsan A
el i@l MRt sal-As
sl W2 A By uas
We. .

(@ Rsidl spden Axrsize ﬁ&
Al @Qouy-- Ruwud 531
4], '

() il BsyAell yad 8 ¥ uwrdla

A Yl WAl Gadan i
ASH Fl kA 2o iy,
Yoy Rsey wie 53 :
(8) (@), &) A () WA B
(B) (@), (3) 21 (d) WA B
© @ ¥ G wnd

M) i WAL B
Ad-nifl sid w 42 seu-lal
daladt avy g¢f ?
(A) dHA o
(B) Ué B
(C) y~dd siq
(D) it i3
| [PT.0.]



Match List I with List II and select
the correct answer from the codes
given below : |

List I
~ (Thinker)

(a) Thomas Hobbes
~ (®) John Locke
(¢) J.J. Rousseau
() J.8. Mill

List I

(idea)

({) defense of sovereignty and
assertion of the claims of
political authority over religion

(i) defense of individual freedom of

thought and expression

(i) limited form of constitutional
government

(iv) claim that sovereignty has its
origin in the people and
remains with the people

Codes :

@ ® © @@
- (A) (@) @) vy ()
(B) _(ii) @) @ Gw)
© @ @ @) G
@) @) & @ @)
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10.

Which among the following is
correct about Rousseau’s concept of
General Will ?

(A) A person’s Real will

(B) A will above the individual will
C) A éommon nie

(D) All of the above

Who said : “a number of persons .......
in the habit of paying obedience to
a person, or an assemblage of
persons, of a known and certain
description are said to be in a state
of political society” ?

(A) J.J. Rousseau

(B) James Mill

(C) Jeremy Bentham

(D) J.8. Mill

J.8. Mill justifies an imposition of
limitations on an individual’s liberty
in order to.: |

(A) Promote indjvid;lal'good

(B) Sf:rengthen the power of the

govemment

(C) Prevent harm to others

D) Suppms_s dissent against public

opinion
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11.

12,

13,

Who said the following
“Revolutions are the festivals of the
oppressed and the exploited” ?

(A) Kerl Marx
(B) B.R. Ambedkar
(C) Rajni Kothari
(D) VI Lenin

Which among the following is

commented by Mao ?

(a)  Political power grows out of the
barrel of a gun.

(6) We have an army for fighting
as well as an army for labour.

{e) A revolution is the will of God.

@ A revolution is not a dinner
party.

Select the correct answer :

(A) (a) and (b) only

(B) (a), (6) and (d) only
(C) (a), (b) and (c) only
(D) (a) and (c) only

‘Who among the following criticized

the liberal individual as “an

- unencumbered self” ?

(A) Charles Taylor
(B) Michael Walzer
(C) Michael Sandel
(D) Alisdair MacIntyre
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14. Match List I with List IT and select 14, W€l T 31 wdl 11 0 qavuqell s2)

the correct answer from the codes WA QA wulen sisuidl wAl was
given below : wae s :
List I o wd
(Au.thors) | | (Auis)
(@) Judith Butler (@ %ysly C't?.eli
(b) Wendy Brown ' (b) a-8l wlG
(c) Carole Pateman | (@) A Vel
(d) Mary Wollstonecraﬂ: d) iﬂ QAW 4152 |
i.ist 1 wel 11
(Books) o gy
@) A Vindication of the Rights of @ Elun »iis 4 usz »is
Women B | A
() Manhood of Politics B (i) A #a‘ls vilalsu
(iii} The Disorder of Women - Gi) 4l Sluils is e
(iv) Giving an Account of Oneself iv) dla vt M55~ 2Mi$ g ilc-a
Codes : - | | SiS :
@ & © (@ (a) &) (@ (@
(A) Gv) G GiD) G - . (A) (v} Gi) Gid) ()
® @ @ O @ O ® @ ) O @
© ® @) G) @) o © 6O G Go) G
O 6 G G @ | D) ) Gv) Gid) Gd)
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15.

16.

17.

Who is the author of Savitri ?
(A) Savitribai Phule

(B) Tarabai Shinde

tC) 'MK. Gandhi

(D) Aurobindo

“Nai Talim” was advocated by :
(A) B.R. Ambedkar |

(B) Madan Mohan Malaviya
(C). MX. Gandhi |

(D) Hansa Mehta

Who founded the Mexican Socialist
Workers Party which was later

named as Mexican Communist
Party ?

(A) J;y-prakash Narayan

(B) M.N. Roy

(C) Che Guevera

(D) Fidel Castro
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18. Match List I with List II and select

the correct answer from the codes

given below :

List I
(a) Partha Chatterjee
(b) Sudipta Kaviraj
() Bhikhu Parekh
(d) Akeel Bilgrami
List II

() Colonialism, Tradition and

Reform
i) Gandhi’s Integrity
(@ii) The Unhappy Consciousness |
(iv) The Nation and its Fragments
Codeﬁ :

@ ® © @
(A @) G) ©
B) Gv) G G G
© GE) G) G )

D) @ @ k) ()
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19 Which of the followmg are central

20.

21.

Ad)

- conceptual principles and/or devices

employed by John Rawls in his
theory of justice as fairness ?

(a) Difference Principle
() Veil of Ignorance

{c) The person as an “encumbered

self”

Original Position
Select the correct answer :
(A) (a), (b) and (d) only
(B) (a) and (b) only

(C) (d) only

D) (@) and (d) only

Which of the following works is
authored by Ronald Dworkin ?

(A) Justice Interruptus

(B) Liberalism and the Limits of

Justice
(C) Taking Rights Seriously
(D) Spheres of Justice

“Some day we may take another
angle of approach than the formal,
as other sciences do, and begin to
look at political behaviour as one of
the essential objects of enquiry.”
Who said this ?

(A) Arthur Bentley

(B) Graham Wallas

(C) Charles Merriam

(D) Walter Lippman
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sequence of Edward Shil’s categories
of political system ?

(a) Political democracy
() Tutelary democracy
(¢) Modernizing oligarchy
(@) Totalitarian oligarchy
(e) Traditional oligarchy

Select the correct answer ﬁ-om the
codes given below :

(A) (a), b), (c), (d), (e)
(B) (@), B), (e), (), (@)
(O ), (@), (), (d), (e)
D) (a), (b)), (), (e), (c)

. Who advocated the elitist model of

democracy ?

(A) Joseph Schumpeter
(B) John Rawls

(C) Isaiah Berlin

(D) C.B. Macpherson

. Nation building is essentially a
structursl problem as it involves the
differentiation of new rules,
structures and subsystems is the
view of :

(A) Almond and Coleman
(B) Lasswell and Catlin
(C) Finer and Fredrich
(D) Ogg and Zink
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25.

26.

27.

Who proposed a pan-African unity
on the basis of the US Constitution
in the book Africa Must Unite
(1963) ?

(A) Kwame Nkrumah
(B) Nelson Mandela
(C) Frantz Fanon
(D) Julius Nyére

The combination of the function of
the head of the state and the head
of the government in the USA is
a medieval practice. This is stated
by :

(A) S.P. Huntington

' (B) Gabriel Almond

(C) David Apte
(D) Robert Dahl

Montesquieu used the term
separation of powers and not

division of power because of :

(A) Efﬁciencyinthe administration

(B) Instilling accountability in
governmental organs

(C) Proclaiming judicial supremacy

(D) For safeguarding liberty
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'28. Which one of the following is not 28,

30.

a Marxist concept of analysis ?
(A) Class

(B) Mode of production

(C) Capitalism

D) Functionaiism

Who amohg the following has
defined legitimacy as “mnvicﬁm on
the part of the member that it is
right and proper to accept and obey

the -authorities” ?
(A) David Easton
(B) Seymour Lipset
(C) Gabriel Almond

(D) Karl Deutsch

Who used the phrase “Spirit of"

Capitalism” in describing the

development of capitalism ?°
(A) Karl Marx

(B) Emile Durkheim

(C) Auguste Comte

(D) Max Webc_er
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31. Who are the leading proponents of

32.

the contrasting views of advanced

capitalism as instrumentalist and -

structuralist ?

(A) Sweezy and Mandel

(B) Mills and Magdoff

(C) Miliband and Poulantzas

(D) Cabral and Fanon

Who of the following challenged the

doctrine of homogeneity as a basis

(A) Aristotle
(B) A.D. Tocqueville

(C) -J.S. Mill

(D) A. Lijphart

Select the correct option from the
following :

In the U.S. system

(A) President is elected by the
Congress

(B) President is the leader of the
Congress : '

| (C) President is answerable to

Congress

(D) President is not a part of the
. Congress

Pol. Sci.~II

- of stability in a democratic order ?
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31.

32.

33.

AigFLs Yelarer Aa-agl dus

Aaeiggl yry [@Qigl Qi

wyu RBuudlsl sia sal ?
(A) A »1-s usa

B) Mlew A5 Rasis

© Meldls s viasyeia
D) WA s §i6s

disdlyd R Raadiqu vl

A3 Aszudirl Rgid Da-wsiell

s wesidl edl ?

(A) AAReeied

(B) 1.8l Zisidy

(€) %. 2. o

O A dud

AA-piell 0l Asey e 53
A4 A ...

(A) WU S gl Y 8

(B) Wyv SiAAL AdL 1w B

() WM SAA yUAER Gi1 B

(D) MW 3 SIAUAL UL St ~Aof]



B4, Who among the following challenged 34 DAl SR A Aot e
the idea of political development 8s - 343uu uRut adlk ussrdl B 7.
a unilinear process ? | o e
S C(A) dAsas e
(A) Edward Shils o
I , B) YN edlozq
(B) 8.P. Huntington R
- \ ' © Nollug el
(C) Gabriel Almond - o _ ‘ o
(D) Sydney Verba @) Bl ad

35. Identify the comct,sequehw ofthe 35 :r;t@ﬁvs_ gl [@.Hl*{ct_ gl g

following input functions advocated | A wlar bllcl?l[_‘[_l 5'-_';'1 ($ye
‘by Almond : o gsued) A W swal aligdl.
@ Iptereaf.' agé;egation ' . @ $r2dw Nalda

b) Intergst_ articulatipn. g o | (b)_ 5*&%28 W&&a&a& -

(c) Cz_'zt.u:a .soc_l.a?uati_qn an © M ma& St ol Agedee
recruitment : _ ' o
L - @) wWadse siyAddun
(d) Political c_:ommunication. S . e
(A) (b), (¢), (a), (@) | ' oo o

(B) (c), ), (@), @) ®) (), ), @), @

© (©), @), ®), @ o A .\ (C) (é). (c.l)',_.(b)_, _(dj
D@ 0 De00d
CPelSa-I . . W . [PTO]



36 Below are two statements, one

- labelled Assertion (A) and the other

. labelled Reason (R). Select the

- correct answer from the codes given
~ below : '

Aﬁsjerﬁbn'- A) :

'The countries of the world display

a much greater diversity of
authontarmmnm than they do of

- democracy

. Reason ®):
g Aqthoritﬁriaji- regimes lack any
 universal rule or norms other than
- the preservatmn of power

Codea

o .(A) Both (A) and (R) are trueand-

- (R) is the correct explanahon
of (A)

* (B) Both (A) and (R) are true'but
is not 'the correct

.. (R) -
- ‘explanation of (A)

" (0).(A) is trie but (R) is false
D) (A) is false but (R) is true

7. Criticism of pohtwal parties are not

_ 'aga;nstpohhcalparhesassuchbut
against the weak and imperfect
ones. Who made this argument ?

(A) Maurice Duverger
- (B) Glovanm Sartorl
(©) S.P. Huntmgton
(D) Robert Mlchels

Pol Sm ~II

18

. 36.

03 a suil %uilal & S ﬂ.élg A%
3su- (A) 8.2 ol 5120 (R) a3
culaanl 2uey 8. 44 awlar

" sisamidl :ulau %qm e s ¢
-g._wt-t A) :

- R 2 e.‘taatiél-u wedAt sl

A Yuicu e g mg arem welid -

-su}
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37.

UAMCUR WAL A aslc[l AL
Ruawi- sisum adBis Glaw 3

ke Gan w2l 3.
88U ¢ _
A G (A) WA Ry WAL D WA R)

R (@A) l wh wgR B

(B) 4 (&) % () WAl B wig (R)

a @) A wdl awla 'itﬂ

© @ W B uig R) vig &

D) (A) “ig & uig ®) w0y 8
mﬂq il dn A ArNY A

Sl A Al wlg s B A3

sl WAL A D, i edle A 57 |
edl ?

(A) Wil ?.a."ﬂ

(B) @ig-dl mm‘l

© M. gefoedt

(D) Amé mda



'38

Who of the followmg wrote

' ,extenswely on such topics as

. bureaucracy, forms of authority and

“and political development ?

(A) Karl Marx.

© (B) Max Weber

39,

(C) Talcott Parsons -
(D) David Easton

The phrase “Developmental- State”
~ was used by Chalmers Johnson

'refe_rring to the _governmehtal

system which was pioneered by :

© 40,

(A 'dreat Britain

(B) USA.

Russm)

._(D) Japan.

Modernisation theory held that as
‘societies developed they would

(A) Post-materialist

" (B) Socialist

(C) Aﬁthorif.érian '

(D) Capitalist Dempcracies:

. Pol. Sei—II

" the impact of culture on economic

88,

s uuél Al aqatu wd z-uﬁis -
»H. 2o fiu Fust GuR Ayl R

o Fau Rvdl GuR [é.eqcmél Al

'51% avy ¢ ?

o oad b

(B) Asu &q_:.‘

. (©) assiz fluaus

(©) Former Sovxet Union (Now

39.

(D) 3Rs S

A5 Uil Aew- Agelui

] el gL Guond At
e AoeAYs ‘Taquire w2’ 3 ol

udd il 8 s el ?
A) 2 (et
(B) 4. R,

._,_(C) wonGg AR aFmvt (stagf

zl'iuu)

| '-'.'(D) -t _'

. bugﬁs ﬁmm g s& t) 3 & R
fAsfla ud _Eh_t dvil ol

. -__"(A) wgedlldsatel L

(®) wurad

(O UYMARAUE

- @ ydlad etlauélaﬁ_
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41 Durmg which Congresa Session

_were aoclal and ecdnomlc rights

pro:msed to the Indian people ?

(A Lahore Session

(B) Lucknow Sesslon
(C) Surat Sesamn
() Karachi Sesamn '

2. :Who_among-the foHowiﬁg was the
first Satyagrahi of the individual

42..

41

3‘[91%1&1 suL Aut L2 MU

ddl %umm 3 2uls asig qam_ -

| - '.cwﬂdlaobedmneemmmentstarted |

by Gandhi in October 1940 ?
(A) JB. Kripalani

(B) Vallabhbhai Patel

(C) Sarojini Naidu

(D) Vinoba Bhave '_

. Which of t.he followmg Committees
was appointed by the Government
of India to identify the creamy layer
- among the Backward Clasaes in

 India ?

(A) Justice AN. Mmhra Commlttee

(B) Juatlce R.N. Mudholkar

(C) Justice Ram '.Nandan
Commlttee

D) Justice - Rajendra Sachar
-Committee :

BN »uda ed 7

(A) disla dus

" (B) @l Anet
(0 Y¥rd At

@) sull Aun

»lsds 1evo i Al it U3
sl dda ul3dad AN
WIALG{O AOAAAL UAY aemuﬂ
-[lilvtmuﬂ s 6d.l ?

T @ %ol guensll

. (B) aedmusS w24

) () az‘tf%ﬂ aug -

(D) [a.vtlbu <~u€t

. SRl wtdqaﬁm vamqa[-l__

BlAnAL 12 Sl AL &l

 fAnih 56 AR Rags s

- wudl ec{l ?

20

(A) %'%éla . :’1-1 ﬁlsu all

® Y a»uz.a—;. gaa._etsz_ @l

(©) Ut 1IN

@RI utw WA ABR



44

: federalism” ?
' (A) Balveer Arora

46.

(A)

Indian

Who chéracterised
federalism as “bargaining

(B) W.H. Morris-Jones

{C) Granville Austin
D) K.C. Wheare

Which of the following is not the
objective of the Directive Principles

- of State Policy ? Select the correct
- answer from the below :

. {a)

To estabhsh a welfara state. .
®)

justice,
©
(d)

To es_t.ablish .a religious state.
To establish a .secular'stai;e.
@, ® and @
{c) an_d.(d)

(C) Only (@)

(D) Only ()

When' the President of India_

(B)

in force for :

| (A) One month

(B) Two' -mopths |

(9 Three months

| (D) Six weeks -
Pol. Scl —II

‘To ensure economic and social

46,
- proclaims an ordmance it remams '

21

4.

Al euadly

ARy &91:1,.
“t-ua.a'lsS—[[al gsudlyw'’ ctz'l} qli["l ‘

X sg ?

4) aadiz m“m
(B) sotc;g.m. R
(© udld viRed

@ 3.4, Az o
QA 5§ sumd UL IR

Rnys weleds RigidiqAl 3g el ?

1 2l Asuiel wal o wde

83

(a) sc-twa zml—[l AL

_(b) au[![a L eu%u[‘xs vtun—ﬂ

wiayl.
© whls wradl @,

@ BetideRs zwq-{l A, |

" (A) (@), ®) 3 (d)

(B} (&) ¥R (d)

(C) M (a)

D) A ()

WU UL RHYM A2gHH SR
Ws 9 dl A deal wwy -g,eil WML

W H?

LA s H[év_{_‘t |
C ® A 4R

(©) o R

(D)_@'maqtl‘sm-f L
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47 Wh1ch of the follomng is not a

| peasant movement ? '.
(A_) Shetkari Sanghatana

: :..(B) Bhartlya .-Kisa.n_Union“

- (C) Raytu Sangh -
- '_ (;D);. Chlpl:o Move;nel;)t
. _.Whlo. chara-.ct‘ieriseld India as
| “a mllhon mutinies” in 1_99Q_ "
@ .V.S.._N-a.ipaul |

(B) Ted R. Gurr

: .(C) Upendra Baxi

. @ Salman Rushdie -

. Which one of the following Acts
' created the Federal Court in India ?

" (A) Government of India Act, 1909

47.'_

48

49.

{B) vaerm_nent of India 'Act,-1919 _ -

' _(C) Goéernmeht of Indi_a Aci,:,_ 1935

* (D). None of the above

Pol. Scl-II

Al-usiel 56§ A Ageell 2

| el ?

(A) AL 2sksr

_'_(B')-_ SERIC] B%u-i gFm-t. .
_- (C)_i'm'g, e |
@ Al b
| v Wi ozt AR <o At
Syl o slawed og ?

(A) l.AA, Sy

(B) 28 2. Y2

- (©) G sl

(D) A4HLt WEl .

AAniell sul SUEL Gl BN
észa alé-ﬂ Mvu szqtm w1l

__e.c{l'? |

(A) Aail-e iy Shsuw Ase-1eo

(B) il s Shsu Nse-1¢ace

(C) -3afl-e s SFsul Bse-1e3y

| '(D)' Guumidl _a‘uSuet "R



50.

for :

' (A) Vlolat:mg the Constitution |

'- (B) Dmregardmg t.he Parhament

51.

{C) Not taking the advice off,h_e PM

(D) None of the above

-Who haa enuncmtad the conoept.

.of “demand polity and command
~ polity” ? |

b2.

 (A) Myron Weiner
(B) Rajni Kothari o
(C) Rudolph and Rudolph

(D) Ashutosh Varshney

The Second Five Year Plan focussed

on which of the following ?

(@) Strengthening the industrial
base of Indian economy.

(b) Expansion of public sector.

(é‘)_ Import substitution.

President of India can be impeached

50.

51,

HRAAL MR WA el
AAuHidl $§ suod Gu aadl,

as ! S
(A) HwRAnL ol ey
(B) duedl AR ogd

(© ast uui-l Hels 4 dal wed

) Gl Adu AR

DAl SR ‘s WRA AA

._._3311-51&[& ”ﬂmuetu&ou[ﬁd&q‘[ |

- 52.

Cedl ¥

(A) W ad

@ 2l sl ‘
(0) 3Siee WA 38les

D) ugyd qu-ll

ALunidl 56 suod Gur ol

ey, i eul sl el ?

@) oua.c[lq ua[ml-u »ﬁa@w \utu& -_ -

Hoyoyd ﬁcu G‘LQ

L ® méz ol aﬂl&aw N
G avutucl %32

(d)_ Equal emphasis on agncultura o

: and lndustly

‘ nges.:- . |
A @), 0),©

- ®) (@), ©), @

D) Only @)

Pol. Sci~II
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53 According to the 44th Amendment'

to the Indmn Const:tutmn

| (a) The Right to Property was

deleted.

) Articles 20 and 21 could not be

'_suépended during nation_al
emergency.
~ (¢) Prime Minister can invoke

national emergency..

(d)_ "The words secular and socialist

~ were added to the Preamble.
Codes : :
(A) (®).and (&)
(B (2) and ()
(€) (@ and @
M) (c) and (d) |
. Which of the foﬂomné Articles of
the Indian Constitution guarantees

~ the nght to freedom of speech and

expresslon to Indian citizens ?
@A) 19a |

- ® 1%Db

©) 20(L)a

©) 21b

~Pol. Set.~II .

53. ouzc{lq bmwetvu 12410 qmeﬂq
. geuu Yoo

(@) Besd quiaae PR R

s e,

®) Uy aawél £3Yir, san-—zo

YA 4R -\ igs uvll wsiy
Q.

() astutust ufRy 521321—[1 ‘tl.°l9[l

53 w3,

@) qaRe AL _@l*t—%lbl&lﬁ.&
ECY :am%cua'l_ yogl GARAm
wloy.

| {3 »udal s‘tswue{l am‘l (SR
I

- &15%1 :
@A) 0) ¥ (o)
. (B) (@) @A (b)

(©) (a) ¥ @)

O © ¥ @

. la-umied Otl?.c[l‘l r-raum—[l 56 sam
| ot WARAN atell wA R
Mottt goell wiedl 2 @ 7

(A) 1(1)a

B) ‘l'e.(‘l)bl__
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. 55 ,

56.

57.

Into which court can one file a

~PIL ?

(A) District Court and Sessions
Court '

(B) Only High Courts
(C) Only Supreme Court

(D) High Courts and Supreme

Court

The 9th Schedule of the Indian
Constitution consists of :

(A) The Union, State
Concurrent lists

(B) Labour Laws
(C) Land reforms related laws
(D) Election related laws

The functions of the Election
Commission include :

(@) Holding and conducting free
and fair elections

a_nd

aning down the code of
conduct

Preparing electoral rolls

&)

(c)

(d) Delimiting the electoral

constituencies
Codes :
(A) (B), (¢} and (d)
(B) (a), (b) and (c) -
(C) (a) and (d)
(D) Only (d)

Pol. Sci.—II

55.

Ad-uuil 5§ s (velad) di 932
(Bl M v 53 usmy ?

" (A) Slse sid wa Aun sié

56.

57.

25

(B) A 15518
(€) Wt Yhw sié
D) s185ié v YO sié

lddel Ry ay wWR[uwe
il 56 onodd wig & 7

(A) Ay, UBY wA Anadl wdlai

B) abis suel

(C) %l -Yura i sueiil
D) 2esll 2eidl setvil
Al sau sl el dast
siul amdy wy B ?

@ st A el Yaulai
Rdl ¥ dd dwad 524,

B AR Alkdr ssl sdl.

© el wélsl dwr sdl.
@ ez il ¢6 Asfl sl
FUR : |

(A) (B), () ¥\ @)

B) (@), ) ¥1 ()

(©) (@) 21 (d)

D) WA d)
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b8,

- 59,

Which party was the first largest
opposition party in the first Lok
Sabha. ?

(A) Communist Party of India
(B) Bharatiya Jan Sangh
(C) Praja Party '

(D) Akhil Bharatiya
Mahagabha

Match List I and List IT and select

Hindu

the correct answer from the codes

given below :
List 1
(Authors)
Granville Austin
Paul Brass
Rajni Kothari
Christophe Jaffrelot
List I1
(Books)
India’s Silent Revolution

The Production of Hindu-
Muslim Violence in
Contemporary India

(@)
(b)
(©)
(d)

@,
(id)

(i) Working of a Democratic
Constitution

(iv) Caste in Ig:dian Politics
Codes :

(@ ) © (@@

(A) @D &) Guy &)

B) @) @) Gv) @)
© @ & G @
D & @ @ i)

- Pol. Sci.-II
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D) &

. NHY dlsueuml sul ya Al uddi

WiZl RAda ua edl ?
(A) otdle gl ua
(B) Murdlu -y

(C) N! u&

D) sfa cudly &g HIACAL
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A AR 20 sisumil wAl vae
e s3 -

wel-q
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ndla iRz
wd iy
-l sisil
£l2215 Fsdie
wel-2
| (y2asi)
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d)
(e)
(d)

@
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(iv) s12 S Slsu- viladlsy
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@ ® © @
(A) @) @) @) G
B) G) Gi) @) G
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Gv) Gi) (D)



- 60.

61.

62.

63.

Which district of India first adopted
Panchayati Raj ?

(A) Ahmedabad
(B) Kotftayam
(C) Nagaur
(D) Wardha

Under the code developed by
workers at the Western Electric
Company, one who passes
unfavourable information about
his colleagues to his superior is
called : '

(A) A Squealer
(B) A Puzzler
(C) A Rate Buster
(D) A Chiseller

What was J.D. Mooney referring to
when he said “conferring of
specified authority by a higher
authority” ?

(A) Cox_hmand

(B) Hierarchy
(C) Delegation
(D) Span of Control

Which among the following was
advocated by F.W. Taylor ?

(A) Human Relations Theory

(B) Scientific Management Theory
(C) Systems Theory

(D) Bureaucracy Theory

Pol. Sci.-1I

61,
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62.

63.

oudel 541 Breeunl e‘flwm 2yl
%Y UMl sy sg ?

(A) dMelale
(B) sz
(C) Wil
®) sl

dzed SAsls Su-llui sMeil gL
wsfl sl »hdal sis Yo, 3
{11 didi-u wss{udl g
wlFasfly Welld didru Guil
AL UM A sdud

(A) ¥ wdlar
(B) &L Wl
(C). M 2GR
D) 2 Auar

.9 YR 5§ ousid-l Gedul sl
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64.

65.

Which among the following is not
a principle of organization ?

(A) Collective Responsibility
(B) Hierarchy

(C) Span of Control
(D) Unity of Command

Match List I with List IT and select
the correct answer from the codes -
given below :

List I
(Committees/Commissions)
(a) Ashok Mehta Committee
(b) Taxation Enquiry Commission

(¢} Local Finance
Committee

(d) G.V.K. Rao Committee
List I
(Year of Appointment)

Enquiry

@) 1953/54

&) 1951
(iii) 1977178

(iv) 1985

Codes :

@ ® © @
@) G & G )
B) G () G (Gv)
© © G G Go)
@) @) G 6 @)

Pol. Sci.—II 28

64. ~NA-wnidl sul Rigid sl Rgia
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(A) AYsa seuoel?l
(B) W& il

(© [Rstal iy
(D) AUser.

e I wA wel IOl avunsll sRi

i A 2ulen sisHidl WAL was
yiie $3 '

el 1
SAR/sBun)
(@) das v3dl sER

(b)) ] 28 Ssan?l sAR

(©) 4l disd s Srsuuy sHhR
@ .43 ua sBR
el 11
(RuR s ad)

() eN3/uy

Gi) e
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66.

67.

Which of the following concepts of
administration is action oriented
rather than structure oriented ?

{(A) Democratic Administration
(B) Autocratic Administration
(C) Development Administration

(D) Administration based on
Charisma

The Five Year Plan was started in
India after independence in the
year : .

(A) 1947

(B) 1948

(C) 1950

(D) 1951

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Select
the correct answer from the codes
given below :

Assertion (A) :

The District Collector is the most
important functionary at the apex
of the district administration.
Reason (R) :

Warren Hastings introduced the

office of the District Collector in
1772. S

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Pol. Sci.-1I
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{2 WSl adlqe-dl 3%5\[3.9{lq'u%ft
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(B) anuyely adlae
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69. Match List I with List II and select

the correct answer from the codes
given below :

List 1
(Authors)
Chester Bernard
Herbert Simon
Dwight Waldo (ed.)
Marshall Dimock
List II
(Books)
Philosophy of Administration
Ideas and Issues in Public
Administration
(ii) Administrative Behaviour
(iv) The Functions of the Executive
Codes :
@ B © (d)
(A) Ga) Gv) @) @
B) (v) @@y G) @)
©) O G @) G)
O G) @ @) )

(a)
®
(c)
@

®
@)

70. A budget which focuses on input of

resources and output of services is
called : '

(A) Performance Budget
(B) Zero Budget

(C) Deficit Budget

(D) Gender Budget

. 30

69.

70.

O

gl 1+ wvuHell gl 1T 0 83U
A —[lilj»uﬁ.cu sisuitll WAl s
wie 3 :
CTLAN |
(@Avi$)
e omls
eolé AU
s alest (Asl.)
wisla, SlHis
wel 11
(YRas$)
BaR s AsBirllguq
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71.

72.
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Consider the following statements
about civil services in a developing
society :

{a) It should act as an instrument
of change. ‘

It should haye Iconcel-'n' for

- social equity.
{¢) It should have common concern

for vested interest.
(@ Tt should be politically neutral.

Select the correct statements from
the codes given below :

A) @), ®), () and @
®) (@), © and @)
© @, ®) and @
M) (@), ®) and (©)

In his work Principles of Public
Administration which one of the
following did Willoughby not include
as a principle of administration ?
(A) General and
adminjstration

overhead

(B) Coordination
(C) Finance

(D) Personnel Administration

71. ([Asiulld AHaHl A4l A, addl
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73.

How many  principles of
management were propagated by
Henri Fayol ? '

(A) 14
(B) 12

. () 15

74.

75.

- 76.

@) 11

The Committee on Assurances of the
Parliament of India is an
instrument of :

(A) Executive Control
(B) Judicial Control

(C) Civil-Society Control

(D) Legislative Control

According to Herbert Simon, if a
decision is directed towards
individual’s goals, it is based on :

(A) Organisational Rationale

~ (B) Personally Rationale

(C) Objectively Rationale
(D) Institutionally Rationale

The Lokpal and Lokayukta Bill
1968 passed by the Lok Sabha
lapsed because :

(A) Rajya Sabha rejected the Bill

' (B) President withheld the Bill

(C) Joint committee of the two
Houses rejected the Bill

. (D) Due to early dissolution of

Fourth Lok Sabha

Pol. Seci.—~I1

32

73.

74,

75.

76.

¥l 344 leal dwad Rugidl
Wawld sual sy ?

(A) ¥
(B) 1R

© w
O 11

ettcfly Aue-dl ‘ol sl it
;R;&i%ﬂa’ A+l U4 wd wa-
(A) sL1Leu] »iga

@) ~udlls gy

(C) AR sAHY vigy

(D) wAslY iz

S AMHAL Hd VAR A SIS
[Aelyn Bl Ay ds aami »ud
di d 12 A4 s4i RAsen 3 ?

(A) idluSRude Iu-a
(B) windl ua

(€) iioFsdladl and
D) ddleyundl Funa

dlsUGL gLl WAR wdg 1ese |
dlsuld A disysd was 12
541 SIRRAAR stelldla 4y ?

(A) AFUAMUA WS 5]
(B) 0vgulaxt wasiA sl el

(€) 6l Yeill AYsa WHRARA WS
513

(D) Al dlsAMHIAL Hed St
Qudaq dla



7.

78.

79.

Central Vigilance Commission was

set up on the recommendations
of : '

(A) First Administrative Reforms

Commission
(B) Gorwala Committee Report
(C) Kripalani Committee Report
(D) Santhanam Committee Report
Who authored the work Trends in

Comparative Study of Public

Administration ?
(A) Woodrow Wilson

- (B) Fred Riggs

(C) F.J. Goodnow
(D) L.D. White

Which of the following equated the
Planning Commission with a “Super
Cabinet” ?

(A) Sarkaria Commission
(B) Gadgil Committee

(C) First Administrative Reforms
Commission

. (D) Santhanam Committee
Who is vested with powers to make

regulations on condition of service
of members and staff of the Union
Public Service Commission ?

(A) President of India
(B) Parliament
(C) Utlion Minister of Law

(D) Chief Justice of the Supreme
Court
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81. Realism emerged as a response to : 8L

82.

(A) Harmony of Interest
(B) Global Justice

(C) Domestic Politics
I(D) Globalization

Theory of International Politics
(1979) is authored by :

(A) Hans Morgenthau
(B) Raymond Aron
(C) Stanley Hoffman

" (D) Kenneth Waltz

V.I. Lenin’s contribution to the
theory of imperialism was both a
readmg and rejection of :

(A) Karl Marx

(B) Rosa Luxemburg

(C) J.A. Hobson

(D) Rudolf Hilferding

. Power and Interest cannot be

quantified due to complexities of
international politics. This
argument is offered by :

(A) Hans Morgenthau
(B) Robert Gilpin

(C) Stanley Hoﬂ?maﬁ
(D) Raymond Aron
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85. Power is both relational and

87.

This standpoint is

representative of :

relative.

- (A) Idealism

(B) Realism
(C) Communication Theory
(D) Decision Making 'Theory

Security Communities include
‘amalgamated’ and ‘pluralist’
categories. This notion belongs to :

(A) Karl Deutsch
(B) Ernst Haas
(C) Joseph Nye
(D) David Mitrany

Arrange the following treaties in an
ascending order in terms of their
date of signing :

(@) Threshold Test Ban Treaty

&)

Treaty
(¢} Partial Test Ban Treaty

(d) Peaceful Nuclear Explosions

Treaty
Select the correct answer :
(A) (a), (c), (d), (&)
(B) (@), (b), (o), (@)
(C) b)), (o), (d), (a) -
D) (o), (a), (d), B)
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91.

In which city is the Headquarters
of SAARC located ?

(A) New Delhi

(B) Kathmandu
(C) 1slamabad
(D) Colombo

The Pyongyang Conference held in
1987 is known for :

.(A) Security Cooperation

(B) South-South Cooperation
(C) Regional Cooperation
(D) Nuclear Non-Proliferation

 Neo-Colonialism : The Last Stage of

Imperialism is authored by :
(A) V.I Lenin '
(B) Antonio Gramsci

(C) Frantz Fanon

(D) Kwame Nkrumah

Who of the following is not an

. advocate of the school of realism in

international relation ?
(A) Hans Morgenthau
(B) George Kennan
{C) Henry Kissinger
(D) Woodrow Wilson
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92. - Who among the following advocated
the cosmopolitan-communitarian
perspective ' studying
.international relations ?

(A) Chris Brown

(B) Kenneth Waltz

(C) Immanuel Wallerstein
(D) Stephen Keohane

Non-State dimension of warfare is
also called :

(A) Westphalian Warfare

(B) Post-Westphalian Warfare
(C) New-War

(D) Pre-Wesatphalian Warfare

Who of the following has
contributed to the development of
peace studies ?

(A) Johan Galtung

(B) A.G. Gunder Frank
(C) ILM. Young

(D) Kenneth Waltz

The concept of Peaceful coexistence’
developed during the Cold War is
associated with :

(A) Winston Churchill
(B) Joseph Stalin
(C) Nikita Khrushchev

- (D) Boris Yeltsin
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96.
relations is derived from :

97.

(B)

‘Soft Power’ in international

(A) Nuclear Capability

(B) Cultural and value-based
interactions

(C) Technological capability
(D) None of the above

- Expand SORT :

Strategic Offensive Reductions
Treaty

(A)

Treaty

Strategic Order Reorganisation
Treaty

Security Organisation Replan
Treaty

Which of the following statements
is/are correct ?

(@) India has signed the NPT

(b) South Africa has not signed the
NPT -

India and Pakistan have not
signed the NPT

| NPT has been signed by Iran
and North Korea

All are correct

(&)

D)

(c)
(d)

(A)
(B)
(C)
D)

All are false
Only (c) is correct
(a) and (b) are correct

Pol. Sci.-II

State Organization Replan'

96.

97.

98.

38

wid ey Asiinl sz wa’ u
AMie] %u_wl 9 ?
(A) 8 #Mdl

®) Airglas v Heul ualRd Aud

(©) das-lsl ana
D) Gunidl sidum e
SORT 4 [t 52U :

(A) Strategic Offensive Reductions
Treaty

(B) State Organization Replan
Treaty

(C) Strategic Order Reorganisation
Treaty

(D) Security Organisation Replan
Treaty
Ad-unidfl sai Al wai,® ?

@ erd si.4L2l. s W
g sul 8.

e uBstA A LA, W
saz sul -l |

ald v WA ﬁﬂ.-lﬂ.él..
Y exctlay syl .

St @A Gua  SilwA
VAL, uR s sul 9.

BUAL ol ¥ WAl
GuHl oul o wial
WA (o) Wy &

(@) 24 (B) WAL B

®)

©

@)

(A)
(B}
©
(D)



99. Match List I with List II and seloct ~ 99.

the correct answer from the codes
given below :

List I

(Writers)
{a) Immanuel Kant
(6) Hugo Grotius
(¢) Michael Walzer
(d) John Mearsheimer

List I

(Books)
() On the Law of War and Peace

(ii) Perpetual Peace

(iit) The Tragedy of Great Power
Politics

(v) Just and Unjust Wars |
Codes : |

(@) @&
A @)
B) @) Gv)
(C) Gv) G .
D) @) @)

© (@
() )
@ @)
@) @)

GE) ()

100.

Who among the following highlights
the absence of women in security

literature ?

(A) Charles Tilly

(B) Ann Tickner

(C) ILM. Young

(D) Rosa Luxemburg

Pol. Sci.—II

' 100.

Qel 1 2 wel 17« qvunel s30

2R 12 vudan siswiiel 0 waio |

Wie 53 :
el 1 !
@Qus)
@) SAYyAY sid
®) &l Al
(¢) Hdsa e
@) el MuwsHR
wél o
(Yds)
@ i 4 dl @l d A i
@) wRlyva
@) @ 238l wig A2 war s
(iv) %R WS AAR QLY
slsu

(@) (b)

A @ 6

(B) @) )
© G &
D 6 @

) (@
G} (i)
@ G
@) D)

Gid) @)

Ad-uxil sia yaa mmmi
wloill el Gu usiy wd
8 ? |

A) R ddl
(B) An 52

(C) 8.3y, 49y

(D) 3L asamo] .
' ' [P.T.0.]



ROUGﬁ WORK

Pol. Sci.~II ' 410



